#£—1

W29 E AR - AE TR DRI & R O FEZR

B ‘ s ik 1 e = O
. N S — - . —
Al 3 3 oM K K - RRMEFER [HEP - SRE - DIES
- RANH [RAREEH - - -
B L8 7 5 L8 it 5 L8 2 5 L8 it
oW T % #® 35 2 37 680 35.8 18 1 19 17 1 18 0 0 0
EAE WM L % B 41 6 47 547 27.4 15 5 20 26 1 27 0 0 0
wm O O M T % B 38 2 40 624 31.2 18 2 20 20 0 20 0 0 0
IR OE A W L % B 25 15 40 285 10.2 19 9 28 6 6 12 0 0 0
fecs ZL 5 = 28 15 43 291 10.0 15 14 29 13 1 14 0 0 0
7 167 40 207 2427 20.9 85 31 116 82 9 91 0 0 0
- 5k Tk 1 e D
& 7 F % — : - -
BBl ‘ 3 CIN KFBEEFER [ - SRR - DIEES
- RAE [FRAAEEH - - -
s} L8 7 5 -8 &t 5 L5y g 5 % it
e v B A BH 3 B I
(st 75 P 5 671 ) 14 0 14 496 45.1 11 0 11 3 0 3 0 0 0
e v B A BH 3 B I
CE g T . dE ) 11 3 14 186] 18.6 7 3 10 4 0 4 0 0 0
s 25 3 28 682 32.5 18 3 21 7 0 7 0 0 0
MR A B I (bR BAE R BRI ICE VAT A LEEK A ST



AR HUR N RLF} N R
FR-ER E%i ¥t FRE-FR E%jﬁ 7t FHR-HK eyt ¥t
Ly s |F 20 [ 8| b s |10 [ k| W o N
IR E IR E I AR E S
3 [ A | 11PN T I ONE
| (4| it sl | A o =0 e O 1 G | (40| sl | A
III%CS&EE:'F?EJ III?EE%'FlﬁEJ III?CE&E@'E}EJ
Sty Flaloloal 0o fE®] | 2atox =1 I D I P I = I I R P
P Ve caESES el =t KF I gl
BB B BB [ % BB BB B [~ % BEHEH B BB~ )~ %
[ E] [4—e 2]
— S LH 1 1 HNTTZ (= 52 1 1
NECR vy YT 27 A 1 1] [t etk B G 3] NT THHAARS L—T 24 1 1
(RIS BRAE 1 1| 2|FeevA—te—7 7=vrbu=s2m ]| 1| s E R R — e AR 1 1
(LA 1 1| 2| WSUBARU 1 1| W~vaxs—zrv=7ys 1 1
A b — 1 | L - —Rr~=Yo 7 1 1| =#EHs 27 29— 2 1 1
2T V=T YL I&T Y ) 0 O—() 1 1| Em\EkE 1 1 2l Z#EBEHeLT s ) —E AW 1 1
TLEERER 1 1| 777 % = (i & 1.5 1 1| v7—m 1 1
—HE TR 1 1| A HEAF M 1 1] Rettyl® 1
(i35 1 1 5 1 1 7 21 2 1f 1 2 8
— v & —BLEEH 1 1
LA K 2 2 [ZFofhofik] [EZRAH]
KF D 2T M 2 2| ¥ v 1 1] #ize 8wk 1
R H T [ 1] R 1 1| ELRwmE 6 6
T HH R () 1 1 2l v~ 1 1 1] 6 7
I # T &S @I 1 1 1 2 3
H {20 1 1 (M5 A% ]
SOUSEI# 1| [EX - H A - BAG - Ik 2] —'E 11 1
3 1]13 5 22| Kbw = 1 1] iR 3 2| 5
BAVE 1 1 1 2| Al BHEEREMAE 1 1
W EE ) R 1l 21 11 2| 2 8 3 4 1 7
(&R - BCBE - 72132 - fkh s sE] WA AW 1 2] 3 6
yory—zexzow |1l | | | ] | | 1 mmwam 1| 1 o| (xR
1| 5| 1] 5| 7 19| ER AR KRR 1 1
CANY P NS N 1 1
Gl T3, S 70 B - S8l fn s sE, FIRIREE3E ] (g SEIEE S Al R TERF KR 3] 3
() =37 FRIR | ] 1] ] | o wkawmmes 1 1| sk 1 1
TALY s a by — R 1 1| JUNRFRFBE 11 1
(b T 2] =1 FE—R 1 1 3 4 1 7
JBAL A 1 1 2| WEHH 1 1
WA==%27 b 2B =T FT v I 1 1 [RFwmAT]
2 1 3| S E R ZE I RO A 1 1| AciERT: 1 1
VAP At/ VA 1 1| #AbRT 1
Why - 277 1 1| R 2 2
(283 - oA issE] K =€ C S HHHR 1 1| THEXRZF 1 1
I A PR Lol [ | || | | i|x2xro=rm 1 1| mmamlE xRy 1 1
WEt@~—r7 47 1| BERT 1 1
[BREAZE - 4w 3G s 2] 3] 5 1 2 11| EmMEEMR7RY 1 1
T RLIXIL Y > 7 o — 7 BT 1 1 B 1 1
B H B 1 1 BIRKF: 21 1 3
(BLIXTL 1 1| GEdwE - M 2 — e 23] AR 1 1
1 2 3| s A kE 2 1 3] 1 7| LEK 1 1
FY A 0 B O 1 1 2| IR 9| 1 3 13
(AR - AERER - 267 A BRG] A A ZE 0 1 1| AFERY 1l 1 1 1 4
=3Iy 7 W 1 1| AAREYSER 1 1| BREEI R R T 1l 3| 1| 1f 1 7
Xv ./ U 1 1 3 1] 4] 3 11| =&\EKR* 4 1 5
o P S O 1 1 JE INIES 7 N2 1 1
24 X T 1 1] (@5, /ges) PP R 1 1
BNATTO 1 | 7~veovse @ | | 1] | ] | | 1] sesrxr 1 1
TYF I 1 1 ERIPNES 2 2
SHEE VA AT L 2 — (i 1 1| [ - Eifirh— e 2] JRE KT 1 1 3
1l 2] 4 T =274 74-4v77%> bt 2 2] LM KRF 1 1
(CERENT IIENE Y D 1 1| Ju RS 1 1
0 - BT AR RG] JNEIERT =7 ) > 7 1 1| REAKRF 1 1 2
BRI =27 A (#%) | | | 1| oo g R > & — 2 2] EERFHOL 1 1
(ER87 A 1 1| SR 1 1
[EX - HHBE s B RE ] V=—LSI1T¥A1 MW 1 1| SAfERT 1 1
PV F— AL 3 W 1 1| () fstiE-5< v e 1 1 11| 18| 14] 8] 7 58
Y7 =T T ) av—| 1 1| o 2=7 U 71 1 1
A a—xT Y W 1l 1 2| 7 A =22 1] 11 [F¥%F]
VR B R a T P ) G 1 1| BT ARy 2 1 1| M B T2 e P A 6] 9| 6] 4| 7 32
RF Y=y s WTTTAT v A4 1 1| hRAERa L M 1 1| 28%n T2 i e 1 1
VATOW 1 1| S v=7 0 7 1 2 3 71 9| 6| 4| 7 33
21 3| 2 7 1 1 6] 3 4 1{16] &%t 37| 471 40( 40{43| 14] 14]235
SRR IR (Mo BRI R ETHE) (BT R T A TR A






